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LGk mXETF & (10°m°/4E) MXETH & (10°L/4E) mXETH & (10°L/4F)
1 |4tk 18,802,227t L7 79,562 = EF 6,922,143
2 |—Em 3,761,870) & AT 41,165| B2 2,424,779
3 |RERERE /7 UsET 3,761,765 % 36,684 £ BA{RER KHEHET 1,757,302
4 |TEEEH BT RET 2,789,465 EL i T 16,485 %0 & AR PG F0& BT 1,248,734
5 |A&h 2,523,400] L BR{RER RHRET 13,951 /\ B 971,078
6 |5EIRARSIKHET 2,512,958 AR AR & /7 I BT 12,316 B fE 708,942
7 BT 1,499,238 #0% &f 5 A1 & ET 4,126|fE&TH 474,637
8 =& 858,661|/\1&EH 3,550]—PB&h 248,799
9 |EEmEH 688,865|— R 3,064)dt L 246,827
10 [fE&TH 530,366)1E & 2,618 L P EREE K HT 113,024
11 | ALER1E B ET 368,133| &A™ 2,340) 5 F B = FHT 70,071
12 |EFH 315,804 =& 1,088 {1 AR4E HH BT 64,344
13 /\IBFEH 304,925\ KfniE 1,068 = HH 45,430
14 |=F@h 101,847 4% i BB 48 SRR BT 910)EF A EEHT 33,202
15 |4%RARR T 59,142| FRA{RER A RET 544 | K fRiE™ 20,312
16 | RfiET 58,762| —Fh 543| BB R AR <& /7 IR BT 17,986
17 |&RT 52,657| 5\ ER{E H ET 489 %2R AR 42 R ET 13,421
18 |&FE ST 46,630| & F BB FHT 457 =Fh 12,085
19 i=EH 32,818 L7 ERERKHET 342|FA™ 9,395
20 |EFAEHHE 16,845 T BRI 48R LLI HH BT 173| FEA{RER LU B ET 8,052
21 |EERT= AT 9,091\ A% 136) 42K &R &< T T 6,875
22 | LRARERRHEHET 8,649)'5 F VS EH] 109| FEARER S RET 4,837
23 |—Fa—FH 1892| —F &—FHT 100y AZETH 4,280
24 |EFAEFHT 6,769’5 FEFERHET 50| —F 28— FHT 2,748
25 | WFEAFH 390 LFEBAFH AWO|LFEBAFH 1,986
26 |FnEERFEFNE AT 3,831 | IK AR R BT 320i&EiR™ 676
27 | T™EA{REREA EF AT 2,900| L F EBEF HH 4 20| L P EBE ERET 538
28 | ERERKET 37|iER™ 13| FEA{RER B A 41 313
29 | FER{RERS RET O TEA{RER F 4R 4% 6] L F AR E7 EH 44 173
30 | FEA{RERLLEET 0| L F &h ¥ Er T | EFEFERAET 36
31 |hWFEE R A o|kERT= AT 1| RERIT = H 26
32 | P EBFEFRT 0] 75 42 3+ #B < R BT O] 7 42 H &R T SR BT 0
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